ZEMIC AVIC

Accessories
BY-8-104 BJ-8-202

Stainless steel mounting kits, assembled with: BM8D, B8D. Stainless steel mounting kits, assembled with: BM8D, B8D.
Capacity Part number Capacity Part number
0.5t-21 BY-8-104-0.5/2t 0.5t-2t BJ-8-202-0.5/2t
2.5t-5t BY-8-104-2.5/6t 2.5t-bt BJ-8-202-2.5/5t
. 250lb-5KSE BY-8-104-250Ib/5KSE 250lb-5KSE BJ-8-202-250Ib/5KSE
5klb—10klb BY-8-104-5/10k bklb-10klb BJ-8-202-5/10K N
Short description |
Easy installation, self-centralization with steel ball, good self- | Short description
aligning ability. Easy installation, height adjustable,
) anti—corrosion, self—centralization with
B '““31'-5?3'-] T TSN steel ball, good anti—side loading ability.
o IS Tighten Screw | | | i
— i .::I L) '
ﬁ%’ | bal [.-.2. ' ] imens|
=, ( E::I a Top bu”ﬂnm,; Camﬂﬂ d M _._i ; I Capamt:,rmansmn oD H H1 M
e 0.5t-21 12 | M12x1.75 | R 0.5t-2t 50 92 | 50 | M12x1.75
250Ib-5KSE | (0.47) | 1/2-20UNF | | 260lb—5KSE | (2.36) [(3.62)|(1.97 )| 1/2-20UNF
\ Bottom button [
| 2 5t-5t 20 M20 x 2.5 - - 2.5t-5t 80 105 50 M20 x 2.5
| 5kib-10klb | (0.79) [ 3/4-16UNF L b0 5K-10klb | (3.15){(4.13)|(1.97 )| 3/4—16UNF
Stainless steel mounting kits, assembled with: BM8D, B8D. Stainless steel mounting kits, assembled with: BM8D, B8D.
Capacity Part number . -
P
o521 BJ-6-205-057 R T T =77
260lb-5KSE | BJ-8-205-250Ib/5KSE | '
Short description Short description Easy installation, height adjustable, self-

Easy installation, height adjustable centralization, good anti-side loading ability.

M, anti—corrosion, self-centralization -— 083y
Tighten SErEWQ] LA with steel ball, good anti-side loading | . I
paa | ability. | -
i A iy L N ey
| 2| 1) || =
1 r . - - 1 o
/_m_\ C;;;&TE sion [ H T M 2 | 2
0.5t-2t 80 105 50 M12 x1.75 i .
r 250Ib-5KSE ((3.15)| (4.13)| {1.97 }| 1/2-20UNF _;,4_4
_ * |y
1 - pad(! 87 a
Stainless steel mounting kits, assembled with: BM8D, BSD. Stainless steel mounting kits, assembled with: BM8D, B8D.
Capacity Part number .
0.5t-2t BJ-8-219-0.5/2t Capacity Part number
250lb-5KSE | BJ-8-219-250Ib/5KSE 0.5t-2t BJ-8-220-0.5/2t
- 250Ib-5KSE BJ-8-220-250Ib/5KSE

Short description  Easy installation, self-centralization, good Short description Easy installation, self—centralization, good anti—
anti-side loading ability. side loading ability.
M12x1 T8 ' " 2=20UNF L _'u'1?‘.-.’1 76 ' 7 2—=20UNE
r ~ Both are avaible on requests _Bmith are avaibIEEn requests.
| i 1
: 1 :::' : 1 1 té u,,._‘
Y s s P | anl  len %
L 1
B MHBO3 15) L D80(3 15) )

49




